NMT-30-1178-00 [

SB4/SBX4 DR MOUNT ]

Installation Instructions

1/8

[ —
[—
[ —

o (Working at ground )

<\

|

12

@:ﬁ—{mmxao—m
E—{ M10 — X4

@ — W10 — X4

{ A3 —x8

7 Offset left view

‘// [~-

P
=
\

A
‘ /

A\

\

7
VA
Vi

\/
Ao\

77

Ja
/s
U

1z

AN

Yatvat
\ &‘\%Wv} 3
1 e./A\/A

5 mm gap

NMT-30-1178-00 [

SB4/SBX4 DR MOUNT

Installation Instructions

)

4

G
ef
©

From Packet S-Mount

{M10x40— X 1

| M10 — X1

From Packet Rep A

@ ——M10x40}— X3
@—1 M10 |— X3
@ — W10 |— X3

Vs
o —x
@¢| —— 8x130—— X1
s

———1 84 — X2

(o),

— 820 —

4 X1

— 8 X

\Le.




~
|

%
N
/

Al

Working
on Pylon

)

To winch

d

SB4/SBX4 DR MOUNT

NMT-30-1178-00 [
~(Working at gr

H

[
)

3/8

)

Plastic Washer

SB4/SBX4 DR MOUNT

[

NMT-30-1178-00




SB4/SBX4 DR MOUNT

Installation Instructions

)

NMT-30-1178-00 [

14

SB4/SBX4 DR MOUNT RFS
—
NMT-30-1178-00 Installation Instructions 6/8 -
SLnutM10 \
Fixing clamp sway bar Washer 10.5
(L-Profil 60x60) |
®

Sway bar
extremity

2 U-bolts M6/27 .
4 washers 6.4
8 nuts M6

Typical config.

for direct mount on

angle tower structure

Alternative config. Washer 10.5
With optional interface Screw M10x30
SMA-SKO-UNIVERSAL
For installation on tower
pipe or angle structure
Fixing plate |_.
sway bar 27

SLnutM10

8 SL nuts M10

Fixing clamp sway bar
(L-Profil 60x60)

Screw M10x30
Washer 10.5
SLnutM10

Optional interface
SMA-SKO-UNIVERSAL

| Sway Bar orientation |

(e After sway bar

positioning torque tighten
all bolted joints

AN




Al

)

J

SB4/SBX4 DR MOUNT
 Elevation adjustment

NMT-30-1178-00 [

H

7/8

)

zimuth adjustment|

SB4/SBX4 DR MOUNT
A

NMT-30-1178-00 [




